(MX] &742h 71=7}, #/107H)

A4 47| - = s = 24 i = | & 3 ™M=
2ol TE gt S8t o2t | Z2| AR S22t | S8t 2k | S22t | S8t 2t | S2t| o2t
20134 9& - |1,663|1,481|1,348|1,270(1,533|1,381|1,606|1,374|1,576|1,400(1,533|1,371|1,533{1,371

V- 4 7| = 3 g = BAOie| B F L

T2 gt E2h o2t | Z2t| AR S22t | S22k | S22t cH2t | S8t 2t | S2t| o2t

108 1,601(1,557|1,460|1,412|1,332|1,457|1,360(1,457|1,360|1,505|1,505|1,457|1,350(1,457|1,350
1 1,690(1,640(1,570|1,540(1,460(1,540(1,470(1,633|1,563|1,583|1,523|1,540(1,460(1,540| 1,460
12¢ 1,648|1,598(1,528|1,498/1,418|1,493|1,423|1,595|1,525(1,498|1,438|1,498|1,418|1,498| 1,418
20143 18 1,728(1,678|1,608|1,578(1,498|1,544|1 474(1,678|1,608|1,578|1,518(1,564|1,491 |1 564|1,491
28 1,524(1,474|1,404|1,374|1,294|1,321 (1,251 |1,462|1,392|1,362|1,302|1,333|1,263|1,333|1,263
3¢ 1,620(1,570|1,500|1,470|1,390(1,400(1,330(1,550(|1,480|1,442|1,382(1,412|1,342(1,412|1,342
48 1,646(1,596|1,535|1,505(1,425|1,505(1,445(1,585|1,525|1,464|1,413|1,429|1,369(1,423|1,362
5¢ 1,632|1,582[1,525|1,4951,415|1,582|1,525|1,582|1,525(1,462|1,415|1,412|1,355(1,412|1,355
6 1,700(1,650(1,580|1,550(1,470| - - [1,650(1,580(1,530(1,470(1,480/1,410(1,480/1,410
4= 1,700(1,650(1,511|1,470/1,390| - | - |1,650(1,511(1,511|1,403|1,461|1,323|1,461|1,323

Xl 4 o A oty sS4

T2 i Egt ch2t St At Egt Ch 2t Egt CHEt

8Y 1,727 | 1679 | 1519 | 1,469 | 1389 | 1,531 | 1,381 | 1,481 | 1,321
9g 1,741 1,691 1,541 1,481 1,401 1,513 1,373 1,461 1,311
102 1,697 | 1,647 | 1,543 | 1,495 | 1,415 | 1,447 | 1,353 | 1,397 | 1,293
14 1,854 | 1,804 | 1,724 | 1,684 | 1604 | 1,604 | 1,534 | 1,538 | 1,474
124 1,742 | 1,692 | 1,612 | 1,572 | 1,492 | 1,492 | 1,422 | 1,442 | 1,362
20154 1€ 1,695 1,645 1,567 1,527 1,447 1,445 1,375 1,395 1,317
2g 1,761 1,711 1,641 1,601 1,521 1,498 1,428 1,446 1,376
2894252 1660 | 1,610 | 1,540 | 1,500 | 1,420 | 1,390 | 1,320 | 1,330 | 1,260
27| 1,660 1,610 1,540 1,500 1,420 1,390 1,320 1,330 1,260

3g 2¢| 1,660 1,610 1,540 1,500 1,420 1,390 1,320 1,330 1,260
5| 1,660 1,610 1,540 1,500 1,420 1,390 1,320 1,330 1,260

1] 1,660 1,610 1,540 1,500 1,420 1,390 1,320 1,330 1,260
13| 1,660 1,610 1,540 1,500 1,420 1,390 1,320 1,330 1,260
16| 1,740 1,690 1,620 1,580 1,500 1,450 1,380 1,400 1,330
192 | 1,740 1,690 1,620 1,580 1,500 1,450 1,380 1,400 1,330
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(MXI7H, A, 8/kg)

o = £ A 2 M o g = ™M F
T = H = A ch o cH :H

2013 9% 1,657 1,752 1,839 1,704 1,657 1,657 1,548
102 2,146 2215 2315 2178 2146 | 2,152 2,037
112 1,819 1,919 2,019 1,869 1,819 1,819 1,692

128 1,556 1,656 1,756 1,592 1,556 1,624 1,420
20144 19 1,546 1,621 1,625 1,583 1,546 1,550 1,400
2% 1,470 1,496 1,496 1,467 1,470 1,470 1,204

3g 1,704 1,804 1,840 1,766 1,704 1,704 1,596

4¢ 1,977 2,035 2,050 2,006 1,977 1,977 1,865

5% 1,320 1,320 1,384 1,320 1,320 1,320 1,148

6 1,425 1,504 1,567 1,465 1,425 1,425 1,304

7¢ 1,481 1,570 1,619 1,526 1,493 1,474 1,315

¥ 1,456 1,516 1,556 1,486 1,456 1,456 1,404

0¥ 1,213 1,313 1,413 1,263 1,213 1,217 1,117

102 1,750 1,850 1,950 1,800 1,750 1,750 1,650

112 1,780 1,880 1,980 1,829 1,780 1,780 1,680

128 1,696 1,774 1,859 1,735 1,696 1,696 1,593
20151 1€ 1,623 1,646 1,746 1,635 1,623 1,623 1,492
2%l 1,819 1,871 1,919 1,845 1,819 1,819 1,714
284252 1,800 1,900 1,900 1,850 1,800 1,800 1,700

27| 1,700 1,800 1,900 1,750 1,700 1,700 1,600

38 2| 1,700 1,800 1,900 1,750 1,700 1,700 1,600

62| 1,900 2,000 2.100 1,950 1,900 1,900 1,800

od| 1,900 2,000 2,100 1,950 1,900 1,900 1,800

12| 1,700 1,800 1,900 1,750 1,700 1,700 1,600

172 1,700 1,800 1,900 1,750 1,700 1,700 1,600

192 1,900 2,000 2,100 1,950 1,900 1,900 1,800

(%CH:16kg 0|4, Z:14~16kg0|2H A:14kg O/2H
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